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QUESTION 1

Which two methods are supported when installing a Guest Operating System on a virtual machine? (Choose two.) 

A. ISO image 

B. vSAN 

C. Preboot execution environment 

D. NFS Share 

Correct Answer: AC 

 

QUESTION 2

What are two capabilities of Network I/O Control? (Choose two.) 

A. it sets network reservations for physical traffic entering vSphere Distributed Switches. 

B. it enforces a network bandwidth limit on vSphere Distributed Switches 

C. it maintains the network runtime state for virtual machines 

D. it performs load-based teaming for workloads on teamed vNICs. 

Correct Answer: BD 

 

QUESTION 3

How does vSphere HA assist an administrator in the event of a host failure? 

A. It uses vMotion to move affected virtual machines to a different working host. 

B. It uses snapshots of virtual machines. 

C. It creates virtual machines backups. 

D. It restarts affected virtual machines on another working host. 

Correct Answer: A 

 

QUESTION 4

Which vSphere feature automatically optimized resource utilization and responds to workload requirements? 

A. Dynamic Resource Scheduler 

B. Data Protection 
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C. Storage DRS 

D. Storage I/O Control 

Correct Answer: C 

 

QUESTION 5

How does Storage I/O Control protect the service level of critical virtual machines? 

A. Gives preferential I/O resource allocation to critical virtual machines 

B. Allocates I/O resources equally among all virtual machines 

C. Monitors the storage habits of the virtual machines 

D. takes a count of virtual machines on the storage device 

Correct Answer: A 

 

QUESTION 6

In what two ways can vSphere Replication minimize network bandwidth consumption while replicating and storing virtual
machines? 

A. it can use pre-shipped VMDK files as seeds 

B. It limits CPU cycles used during data transfer. 

C. it can use dedicated network resources for replication. 

D. It stores the replicated data in compressed format 

Correct Answer: CD 

 

QUESTION 7

By default, how many days does vSphere keep information about tasks and events? 

A. 60 

B. 14 

C. 30 

D. 7 

Correct Answer: C 
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QUESTION 8

Which process could be used to increase compute resources to a virtual machine (VM) without first powering down? 

A. Increase the CPU Share value on the VM. 

B. Move the VM into a Resource Poolwith a larger CPU resource allocation. 

C. vMotion the VM to an ESXi host with greater CPU capacity. 

D. Add a vCPU to the VM using CPU hot add 

Correct Answer: D 

Explanation: to add more compute resources, using CPU Hot add can only enabled if the virtual machine is TURNED
OFF or POWERED DOWN 

 

QUESTION 9

Which feature of vSphere networking restricts the inbound and outbound network bandwidth of a group of virtual
machines? 

A. Differentiated Services Code Point 

B. Port Mirroring 

C. NetFlow 

D. Traffic Shaping 

Correct Answer: C 

 

QUESTION 10

An operator installs an OS to a new virtual machine (VM) using a DVD inserted into the ESXi host. Later, the operator
notices that a vMotion migration on the new VM fails. 

What action needs to be taken in order for the vMotion migration to succeed? 

A. initiate a high-priority vmotion 

B. Add a virtual CD/DVD drive to the VM. 

C. Add a CD/DVD drive to the target ESXi host 

D. Disconnect the CD/DVD drive from the VM. 

Correct Answer: D 
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QUESTION 11

Which two are examples of information that would be displayed in the Activity pane fo the vSphere Web Client?
(Choose two.) 

A. The memory utilization of an ESXi host. 

B. The state of a vMotion for a virtual machine. 

C. A triggered alarm for an ESXi host. 

D. The current Fault Tolerance Status of a virtual machine. 

Correct Answer: BC 

 

QUESTION 12

What are three ways Data Center Virtualization can be beneficial? (Choose three.) 

A. It decentralizes resource management 

B. It reduces application provisioning time. 

C. It increases hardware utilization. 

D. It enables the policy-based allocation of resources 

E. it reduces capital and operating costs. 

Correct Answer: CDE 

 

QUESTION 13

Which are two key features of vRealize Operations? (Choose two.) 

A. Realtime Log Monitoring 

B. Workflow Automation 

C. Guided Remediation 

D. Predictive Analytics 

Correct Answer: CD 

 

QUESTION 14

Which two statements are true about VMware vSphere? (Choose two.) 

A. It enables recovery from unplanned downtime. 
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B. It enables desktop virtualization using Workstation. 

C. It enables administrators to upgrade operating systems. 

D. It enables planned live migration using long-distance vMotion. 

Correct Answer: AD 

 

QUESTION 15

What are two valid methods to install a Guest Operating System on a virtual machine? (Choose two.) 

A. use vSpher e Update Manger 

B. use ISO image 

C. deploy from snapshot 

D. configure pre-boot execution environment (PXE) 

Correct Answer: BD 
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